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C=0.15 m W=11.0 m
X X y
1.0 0.016
2.0 0.037
_c .2, 3.5 0.078
TR RS 5.5 0.150
X Y
. 1.0 0.010
y:i{—7+q/ 49+1900X—} 2.0 0.034
16 W2 3.5 0.080
5.5 0.149

( 2)
X,Y1) - X3,Y2)
X,=459.800 X,=469.960
Y1=99.990 Y,=89.001
DAX=X,-X; AY=Y,-Y,
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(B Ax>0  Ay>0
180 -3 Ax<0 Ay>0
180 +3 Ax<0 Ay<0
360°-B Ax>0 Ay<0
0= Ax>0 Ay=0
90<= Ax=0 Ay>0
180< AXx<0 Ay=0
L 270< Ax=0 Ay<0

( L = N|AX|2+]|AY]2 L =14.966
S=312=45719""
¢ 3)
P,=(-352.790m,-19.831m)
P.=(-359.747m.-92.349m)
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P,=(-401.639m,-67.952m)

L,=|P,-P,|=] (-352.79m, -19.831m)-(-359.747m, -92.349m)|=72.851m
L,=|P,-P,|=](-359.747m, -92.349m)-(-401.639m, -67.952m)|=48.478n
L,=|P,-P, | =] (-401.639m, -67.952m)-(-352.79m, -19.831m)|=68.570m
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